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You should give details of your method of solution when
appropriate.

Unless stated, diagrams are not drawn to scale.

Scale drawing solutions will not be acceptable where you
are asked to calculate.

The number of marks is given in brackets at the end of each
question or part-question.

You are reminded that assessment will take into account the

quality of written communication (including mathematical
communication) used in your answer to question 7.
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Formula List

A
Y

Area of trapezium :% (a + b)h i

A
Y

Volume of prism = area of cross-section x length
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1. In 2011, Government Statistics showed the number of people in Wales who were able to speak

Welsh and the number who were not able to speak Welsh.

In each case, write the number of people correct to the nearest thousand. [2]

Number of people

Number of people correct to
the nearest thousand

Able to speak Welsh

562 016

Not able to speak Welsh

2393 825

2. The solid below is made from small cubes, each with length, width and height of 1cm.

Diagram not drawn to scale

(@) Whatis the volume of the solid? Give the units of your answer. 2]

(b) The whole solid is dropped into a tin of red paint.

What area will be covered with red paint?
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3. Adam was buying items for his new puppy from a pet store.

(@ Complete his bill. [3]
Items Cost
2 bags of “Woof” dry dog food @ £12.87 per bag £
12 tins of “Waggy-tail” dog meat @ 60p each £
1 dog bowl £
Total £ 41.69

(b)
TODAY’S SPECIAL
Spend £50 and get a free bag of “Doggy Treats”.
How much more money would Adam need to spend in order to get a free bag of “Doggy
Treats”? 1]

04
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(c) Adam knew that “Woof” dry dog food cost £12.87 for a bag weighing 3kg.

(i) What was the cost per kilogram of “Woof” dry dog food? 1]

(i) The same type of dry dog food could be purchased in 10kg economy bags costing
£36.50 each.
How much cheaper, per kilogram, was an economy bag than a 3kg bag? 2]
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4. (a) The rectangles below are drawn on a grid of centimetre squares.

A B
D
C
E
G
F
(i) Write down the letters of two rectangles that are congruent. [1]
Two rectangles that are congruentare ... @d
(i)  Write down the letters of two rectangles that are not congruent but have the same
area. 1]
Two rectangles that are not congruent but have the same areaare ...
and .o
(ii)  Four of the rectangles have perimeters of equal length. [2]

Write down the letters of these four rectangles and state the size of the perimeter
that they have.

. N@VE @ perimeter of ... CM.
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(b) On the grid below, draw a rectangle that is similar to rectangle C but has a larger area.

[1]
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5. Morgan operates a machine that packs bottles of water into boxes.
He has 200 bottles of water to pack into identical boxes.
Each box holds 12 bottles.

He completely fills as many boxes as possible.
How many boxes will he fill and how many bottles will be left over? [4]

The height of Mount Snowdon is approximately 1100 metres above sea level.
It is known that temperature decreases by 1°C for every 100 metres increase in height.

When the temperature at sea level is 8°C, what is the temperature at the top of the mountain?

[2]
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7.  You will be assessed on the quality of your written communication in this question.

Elinor plans to sell cups of juice at a disco.

She buys 8 bottles of juice.

Each bottle holds 3 litres and costs £3.65 per bottle.

The total cost of the plastic cups she uses is £2.50.

Each plastic cup is filled with 250 ml of juice and is sold for 75p.
Elinor sells all the juice that she has bought.

How much profit does she make? [7]

only
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Examiner
8. The pie chart below represents the number of films in each age category shown at a multiscreen | only
cinema. Altogether, 24 films were shown at the cinema.

Use this information to complete the pictogram to show the number of films in each age
category. [4]

KEY: =4 films.

Film Category

U

PG

12a

18

10

© WJEC CBAC Ltd. (4353-01)



11

9. James works part-time in a supermarket.

Last week, James worked the following hours:

Day worked Time recorded
Monday 10:00 to 13:00
Wednesday 14:30 to 17:30
Friday 10:00 to 13:00
Sunday 10:00 to 14:00

He is paid £7.68 per hour for working from Monday to Saturday.
On Sunday, he is paid one and a half times as much per hour.

How much did James earn last week? [4]

11

© WJEC CBAC Ltd. (4353-01) Turn over.

Examiner

only

4353

010011



T T T T T T T T T T T T T T T T T T T T T T T

12

10.

@

The diagram below shows a freehand sketch of triangle XYZ.
It is not drawn to scale.

6-8cm

55°

X IOE: cm Y

-

Use a ruler and a protractor to draw an accurate diagram of triangle XYZ.
Line XY is drawn accurately for you.

[3]
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(b)

Using a ruler and compasses only, construct an equilateral triangle ABC of side 8cm.

Line AB is drawn accurately for you.
You must show all your construction arcs.

[2]
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11. (@) x and y are two different numbers taken from the list below.
3 4 3) 6 14 8
(i) What values of x and y will make 3x — 2y equal zero? 1]
"""""""""""""" e
(i)  Work out the greatest possible value of 3x — 2y. 1]
(“I) ...... WorkOUttheIeaStpOSSIblevalue of3x_2y ............................................................................ [1]
) Fmdthevalueof3(a_2b)Whena:_gandb:% ......................................................................... [ 2]

Examiner
only
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12.

(@) Jamal has five bags of carrots.
Each bag weighs a whole number of kilograms.
The median weight of these bags is 3kg, the range of the weights is 4 kg and the modal
weight is 5kg.
What are the weights of the five bags of carrots? [3]

(b) Jamal has a number of 3kg bags of potatoes and a different number of 8kg bags of

potatoes.

The mean weight of the bags of potatoes is 6 kg.

What is the least number of 3kg and 8kg bags of potatoes that Jamal has? [2]
Jamalhas ... 3kgbagsand ... 8kg bags

Examiner
only
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13. A cyclist used an App on his mobile phone to record the distance he cycled and the calories he

burned, on each of his last six rides.
His results are shown in the table below.

Distance cycled (miles)

60

28

86

52

24

76

Calories burned

2100

1500

3500

2500

800

3000

(a) Draw a scatter diagram of this data.

Calories burned

A

3500

3000

2500

2000

1500

1000

500

20

40

60

80

100

Distance

[2]

cycled (miles)
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Examiner
[
(b) What type of correlation is shown in the scatter diagram? [1] o

(c) Give a possible reason why the cyclist burned fewer calories on the 60 mile ride than he
did on the 52 mile ride. 1]

17
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Examiner
[
14. The graph shows Huw’s journey to college. o

He leaves home at 08:10. The distance from his home to college is 4:6 miles.
He walks to the bus stop and waits for a bus. He gets on the bus and it takes him to college.

AL

Distance (miles)

A

5

T—

—

—

T—

T—

—

0 »Time
08:00 08:10 08:20 08:30 08:40 08:50 09:00 09:10

(@) How far is Huw’s home from the bus stop? Give your answer in miles. 1]

(b) How long does Huw wait for the bus? 1]

4 14 X XX 44 1+ 1 4+£ 1+ £ 1+ 1+ 1 4L 1+ 1 1+ 1 1 1 41 1L
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Examiner
[
(d) Huw'’s sister Erin goes to the same college. o

Erin leaves home at 08:00 and walks to college at a steady speed without stopping.

At 08:35 she is passed by Huw’s bus.

Draw Erin’s journey on the graph opposite and use this to decide if she will arrive at
college before 09:00. 2]
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15. Catherine had a stall at a charity event to raise money for two local charities.

(@) Catherine made a fruit juice drink to sell at her stall.
She started by thoroughly mixing 200 ml of lime juice with 300 ml of cranberry juice.
Catherine drank 100 ml of the mixture to test its taste, and decided it was too bitter.
She then mixed in 400 ml of lemonade, and decided that she was happy with this new

mixture.
Write down the ratio of lime juice to cranberry juice to lemonade for Catherine’s new fruit
juice drink. [3]

lime juice : cranberry juice : lemonade

(b) Catherine made a profit of £84.80 from selling her fruit juice drink at the charity event.
She decided to share the money between the charities in the ratio 5: 3.
Calculate the amount of money she gave to each of the two charities. [2]
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16. (a) Solve the equation xTJrsz 3. [2]
(b) Solve the equation 52x — 3) — 8x = 10. [3]
17 E S 98 V. .
. Evaluate 31-17) - Give your answer correct to 2 decimal places. [2]
18. A regular polygon has exterior angles of 24°.
How many sides does the regular polygon have? 2]
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19. Alist of 50 numbers has been summarised in the grouped frequency table below. only
Number, x Frequency _I
0<x<10 3
10 < x <20 5 -
20 < x < 30 9
30 < x < 40 13 s
40 < x < 50 12 _I
50 < x < 60 8
(a) Draw a frequency polygon to show this data. [2] _I
Frequency _|
A
14 _I
12 _I
10 _|
° .
° .
‘ .
: .
0 » Number, x _I
0 10 20 30 40 50 60
(b) Write down the group that contains the median. 1] _I

L0
22
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